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QUESTION 1

If you needed the Multicast MAC address of a cluster, what command would you run? 

A. cphaprob -a if 

B. cphaconf ccp multicast 

C. cphaconf debug data 

D. cphaprob igmp 

Correct Answer: D 

 

QUESTION 2

There are 4 ways to use the Management API for creating host object with R80 Management API. Which one is NOT
correct? 

A. Using Web Services 

B. Using cpconfig 

C. Using CLISH 

D. Using SmartConsole GUI console 

Correct Answer: B  

 

QUESTION 3

Check Point Management (cpm) is the main management process in that it provides the architecture for a consolidated
management console. It empowers the migration from legacy Client-side logic to Server-side logic. The cpm process: 

A. Allow GUI Client and management server to communicate via TCP Port 19001 

B. Allow GUI Client and management server to communicate via TCP Port 18191 

C. Performs database tasks such as creating, deleting, and modifying objects and compiling policy. 

D. Performs database tasks such as creating, deleting, and modifying objects and compiling as well as policy code
generation. 

Correct Answer: C 

 

QUESTION 4

You find one of your cluster gateways showing "Down" when you run the "cphaprob stat" command. You then run the
"clusterXL_admin up" on the down member but unfortunately the member continues to show down. What command do



you run to determine the cause? 

A. cphaprob -f register 

B. cphaprob -d -s report 

C. cpstat -f all 

D. cphaprob -a list 

Correct Answer: D 

 

QUESTION 5

Which command is used to display status information for various components? 

A. show all systems 

B. show system messages 

C. sysmess all 

D. show sysenv all 

Correct Answer: D 

Reference: https://sc1.checkpoint.com/documents/R77/CP_R77_Gaia_AdminWebAdminGuide/
html_frameset.htm?topic=documents/R77/CP_R77_Gaia_AdminWebAdminGuide/120709 

 

QUESTION 6

Which method below is NOT one of the ways to communicate using the Management API\\'s? 

A. Typing API commands using the "mgmt_cli" command 

B. Typing API commands from a dialog box inside the SmartConsole GUI application 

C. Typing API commands using Gaia\\'s secure shell(clish)19+ 

D. Sending API commands over an http connection using web-services 

Correct Answer: D 

Reference: https://sc1.checkpoint.com/documents/R80/APIs/#introduction%20 

 

QUESTION 7

What destination versions are supported for a Multi-Version Cluster Upgrade? 

A. R80.40 and later 



B. R76 and later 

C. R70 and Later 

D. R80.10 and Later 

Correct Answer: D 

Reference: 

https://sc1.checkpoint.com/documents/R81/WebAdminGuides/EN/ 

CP_R81_Installation_and_Upgrade_Guide/Topics-IUG/MVC-Upgrade-Supported-Versions.htm 

 

QUESTION 8

According to out of the box SmartEvent policy, which blade will automatically be correlated into events? 

A. Firewall 

B. VPN 

C. IPS 

D. HTTPS 

Correct Answer: C 

 

QUESTION 9

How would you deploy TE250X Check Point appliance just for email traffic and in-line mode without a Check Point
Security Gateway? 

A. Install appliance TE250X on SpanPort on LAN switch in MTA mode. 

B. Install appliance TE250X in standalone mode and setup MTA. 

C. You can utilize only Check Point Cloud Services for this scenario. 

D. It is not possible, always Check Point SGW is needed to forward emails to SandBlast appliance. 

Correct Answer: C 

 

QUESTION 10

Kurt is planning to upgrade his Security Management Server to R80.X. What is the lowest supported version of the
Security Management he can upgrade from? 

A. R76 Splat 

B. R77.X Gaia 



C. R75 Splat 

D. R75 Gaia 

Correct Answer: D 

 

QUESTION 11

What is the valid range for Virtual Router Identifier (VRID) value in a Virtual Routing Redundancy Protocol (VRRP)
configuration? 

A. 1-254 

B. 1-255 

C. 0-254 

D. 0 ?255 

Correct Answer: B 

 

QUESTION 12

Fill in the blank: Permanent VPN tunnels can be set on all tunnels in the community, on all tunnels for specific gateways,
or ______ . 

A. On all satellite gateway to satellite gateway tunnels 

B. On specific tunnels for specific gateways 

C. On specific tunnels in the community 

D. On specific satellite gateway to central gateway tunnels 

Correct Answer: C 

Reference: https://sc1.checkpoint.com/documents/R77/CP_R77_VPN_AdminGuide/html_frameset.htm?
topic=documents/R77/CP_R77_VPN_AdminGuide/14018 
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